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59.

60.

61.

The Reserve Bank of India was established in the Year:

(a) 1858

(b) 1935

(c) 1947

(d) 1950

Lord Buddha’s image is sometimes shown with the hand gesture, called

‘Bhumisparsh mudra’ it signifies?

(@) Buddha's calling of the earth to watch over mara and to prevent mara from
disturbing his meditation

(b) Buddha's calling of the earth to witness his purity and chastity despite the
temptations of mara.

(c) the gesture of debate or discussion/ argument

(d) both (a) and (b) are correct

Which of the following statements is Incorrect about fundamental duties under

the constitution of India? it shall be the duty of every citizen of India-

(@) touphold and protect the sovereignty, unity and integrity of India

(b) to strive towards excellence in all spheres of individual and collective activity so
that the nation constantly rises to higher levels of endeavor andachievement

(c) Who is a parent or guardian to provide opportunities for education to his child or,
as the case may be ward between the age of six and fourteen years.

(d) To vote in public elections.

Which of the following scripts of ancient India was mostly written from right to

left?

(@) Nandnagri

(b) Brahmi

(c) Kharoshti

(d) Sharada

During the time of which Mugal Emperor did the east India company establish

its first factrory in India?

(@) Akbar

(b) Jahangir

(c) Shahjahan

(d) Aurangzeb

who, among the following first translated the Bhagwatigita into English

(@) Charles wilkins

(b) Alexander Cunningham

(c) William jones

(d) jamesprinsep



62.

63.

Match List | with List 11 and select the correct answer using the codes given
below the lists:

List I (author) List 11 (work)
(a) devkinandankhatri 1. chandrakanta
(b) premchand 2. durgesnandini
(c) bankim Chandra 3. nil darpan
chattopadhyay 4. sevasadan
codes:
(@) a-4,Db-3,c-1
(b) a-1, b-4, c-3
(c) a-2, b-1,c-3
(d) a-1, b-4, c-2

Match List | with List Il and select the correct answer using the codes given
below the lists:

List I (person) List 11 (position)
(@) Nagendra singh 1. Chief electioncommissioner
(b) Sh. kapadia of india
() Nr madhavamenon 2. President of the international
(d) Vs sampath court of Justice
3. Former chief justice of india
4. Legal educator and founder-
director of national law
school of India university
codes:

(@) a-2,b-3,c-1, d-4
(b) a-4, b-3, c-2, d-1
(c) a-1, b-2, c-4, d-3
(d) a-2, b-3, c-4, d-1

64. Who was not a chief justice of India?

(@) Justice M. Patanjalisastri

(b) Justice K.N. wanchoo

(c) Justice H.R. Khanna

(d) Justice M.N. Venkatachaliah

65. Who was the first attorney-General of India?

74.

(@) C.K.Daphtary

(b) M.C. Setalvad

(c) Nirende

(d) L.N. Sinha

Under the leadership of mahatma Gandhi, the civil disobedience movement,
launched in 1930, started from?

(@) Sabarmati

(b) dandi

(c) sevagram

(d) champaran



75.

76.

7.

78.

79.

80.

81.

Match List | with List 11 and select the correct answer using the codes given
below the lists:

List I (events) List 11 (Result)
a) Dandi March communal electorate
b) chaurichaura illegal manufacture of salt
) simon commission country-wise agitation
d) morleyminto reforms withdrawal of a movement

o

(
(
(
(

codes:
(@) a-1, b-2,c-3, d-4
(b) a-4, b-3, c-2, d-1
(c) a-2, b-4, c-3, d-1
(d) a-1, b-4, c-3, d-2
which of the following planets has the maximum number of natural satellites?
(a) earth
(b) mars
(c) Jupiter
(d) Saturn.
In India, the interest rate on savings accounts in all the nationalized commercial
banks is fixed by?
(@) union ministry of finance
(b) union finance commission
(¢) Indian banks association
(d) none of the above
Solvents are the substances used to dissolve other substances. Consider the
following substances: (1) water (2) ether (3) toluene (4) chloroform (5) ethanol.
Which of the above can be used as solvents?
(@ land 2
(b) 2and 3
(c) 3,4and5
(d) all of the above
Viruses are parasitic, having DNA/RNA, but they can be crystallized and lack
respiration. therefore they are treated as:
(@) living beings
(b) non-living beings
(¢) both living and non-living beings
(d) none of the above
who is the winner of the coveted DadasahebPhalke Award for the year 2013?
(@) Javed Akhtar
(b) Gulzar
() A.R.Rahman
(d) Indeevar
who among the following has been recently appointed as brand ambassador for
central reserve police force?
(@) Aamir Khan
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83.

84.

85.

86.

87.

88.

89.

(b) M.S. Dhoni
(c) M.C. Mary kom
(d) SaniaMirza

Till date (2014) how many people have been awarded Bharat Ratna Award?

(@) 40

(b) 41

(c) 42

(d) 43

Which country Malalayousafzai belongs to?

(a) Pakistan

(b) Afganistan

(c) The USA

(d) England

who recently became the first woman chief of the state bank of India?
(@) arundhatibhattacharya

(b) shubhalakshmipanse

(c) vijaylakshmilyer

(d) chandakochar

who is the chairman of the 14the finance commission?
(@) Dr. M. Govinda Rao

(b) Dr. vijaykelkar

(c) Kr.Y.V.Reddy

(d) Dr. RaghuramRajan

The chairperson of the seventh pay commission is:
(@) Justice B.N. Srikrishna

(b) Justice D.K. Jain

(c) Justice A.P. Shah

(d) Justice A.K. Mathur

which one of the following is not correctly matched?

United nations specialized agency Headquarter

(a) international civil aviation organization Montreal

(b) world trade organization Geneva

(c) united nations industrial development Brussels
organization

(d) international fund for agricultural rome
development

The first Five year plan of India was based on?
(@) John w. miller model

(b) Pc mahalanobis model

(c) Gadgilyojna

(d) Herroddomar model.

Whichone of the following measures is Not likely to aid in improving India’s

balance of payment position?
(@) Promotion of import substitution
(b) Devaluation of rupee



90.

91.

92.

93.

94.

95.

96.

97.

(c) Imposition of higher tariff on imports

(d) Levying the higher duty on exports.

Find out the correct chronological sequence of the following persons visit to
India at one time or another: (1) Fahien (2) 1-Tsing (yijing) (3) Megasthanese
(Hiuen-Tsang)?

(@ 1,3,24

(b)1,3,4,2

(c) 3,1,4,2

(d)3,1,2,4

Which was the first newspaper to be published in india?

(a) Bombay Samachar

(b) The Hindu

(c) Bengal Chronicle

(d) Bengal Gazette

The change in the colour of stars is linked to?

(@) Variation in their surface temperature

(b) Variation in their distance from theearth

(c) Fluctuation in their composition and size

(d) Irregular absorption or scattering in earth’ s atmosphere.

Which one of the following does not remain to be a planet now?
(@) Neptune

(b) Uranus

(c) Pluto

(d) Venus

Who was appointed as the 23" Governor of the Reserve Bank of India?
(@) K.C. Chakrabarty

(b) Urijitpatel

() RaghuramRajan

(d) D. Subbarao

Which one of following offices is held during the pleasure of the president of
India?

(@) Vice-President

(b) Governor of a state

(c) Chief justice of India

(d) Comptroller and Auditor general of India

Who was the first winner of the prestigious Jnapith award?

(@) Tarasankarbandyopadhyay

(b) Kuppalivenkatappagowdaputtappa

(c) G.sankarakurup

(d) Umashankarjoshi

Match List-1 with List —I1 and choose the correct answer:

(@) Visakhadatta (1) Surgery

(b) Varahamihira (2) Drama

(c) Sushruta (3) Astronomy
(d) Brahmagupta (4) Mathematics



@ (b (@© @
Al 3 4 2

B.2 1 3 4
C.2 3 1 4
D.3 4 1 2

98. Who was among the following honoured with arjuna award in chess for the year
2013?
(a) Kavitachahal
(b) Primarjannegi
(¢) Ronjansodhi
(d) Abhijeetgupta

99. Economic growth rate projected by the IMF for India in the fiscal Year 2014-15
is:
(@) 5.4 percent
(b) 5.5 per cent
(c) 5.6 percent
(d) 5.7 per cent

100. Who was sworn in as the Prime Minister of Italy on 22" February 2014?
(@) OleksandrTurchnov
(b) Matteo renzi
(¢) Enrico letta
(d) Giorgio Napolitanto

101. Which one of following is the highest peacetime gallantry award of India?
(@) Paramvir chakra
(b) Ashok chakra
(c) Mahavir chakra
(d) Kirti chakra

102. Which one of the following gases is lighter than air?
(@) Carbon dioxide
(b) Chlorine
(c) Oxygen
(d) Hydrogen

103. Name the scientist who is known as the father of modern genetics?
(@) Jean baptiste Lamarck
(b) Hugo de vries
(c) Greagor john mendel
(d) Charles Darwin

104. Which year was designated by the united nations as international women year?
(@) 1974
(b) 1975
(c) 1976
(d) 1977

105. Mention the correct abbreviation for ATM?
(@) Automated teller machine



(b) Any time money
(c) All time money
(d) Auto limited teller machine
106. General election is being held in India from 7 april to 12 may 2014 to
constitute?
(a) 14™ Lok Sabha
(b) 15" Lok Sabha
(c) 16" Lok Sabha
(d) 17" Lok Sabha
107. Mention the neme of the current chief justice of India?
(@) Justice Altamas Kabir
(b) Justice p. Sathasivam
(c) Justice R.M. Lodha
(d) Justice H.L. Dattu
108. The 9" ministerial conference of the WTO, held during 3 December-6
December 2013 was concluded at:
(@) Geneva, Switzerland
(b) Kaula Lumpur, Malaysia
(c) Warsaw, Poland
(d) Bali, Indonesia
109. Nobel prize in literature for the year 2013 was awarded to:
a) Mo yan
b) James E. Rothman
c) Lars peter hansen
d) Alice munro
110. Which one of the following satellites was successfully launched by the ISRO’s
polar satellite Launch vehicle (PSLV-c24) on 4"April 2014??
a) IRNSS-1B
b) GSAT-14
¢) INSAT-3D
d) SARAL
Direction for question 111-113: read the following information carefully and
answer the questions given below:
Five friends Satish, Rajesh, Rehman, Rakesh and vineet, - each presents one paper
to their class on physics, Zoology, Botany, English or Geology - one day a week,
Monday through Friday.
() Vineet does not present English and does not give his presentation on

(
(
(
(

~ o~~~

Tuesday.
(i) Rajesh makes the Geology presentation and does not do it on Monday or
Friday.
(iii)  The Physics presentation is made on Thursday.
(iv)  Rehman makes his presentation, which is not on English, on Wednesday.
(V) The Botany presentation is on Friday and not by Rakesh
(vi)  Satish makes his presentation on Monday.
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